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REHRT 54 54 55 109|Hi & SHT 52 70 65 135 [P # BT 87 122 127 249 | RATHET 255 337 364 701 | S HET 40 50 60 110
B RIFTET 301 391 382 773 |t2 B ET 240 305 280 585|#— T B 81 101 115 216 |3ZET 64 74 67 141 | FH{RET 63 83 80 163
J\B T 14 15 17 32|y EET 97 140 147 287|#H =T H 101 110 136 246 | th BLET 115 127 119 246 |5 HET 33 63 62 125
L=k 20 25 39 64| 7K EHT 77 95 98 193|EEH=TH 100 95 131 226 | 1. ET 536 654 597 1,251| % BHET 65 81 98 179
A RAT 27 34 4 75| f@HTET 16 26 22 48|EH M T B 162 207 239 446 | B A THET 72 90 107 197 | & tE B HT 20 29 49 78
R—&HT 32 33 32 65| A JIFX 398 476 400 876| WA TH 82 108 102 210(FHfE AR 162 181 202 383 | SHET 38 54 64 118
it 89 95 99 194|128 E—TH 196 254 259 513| AR 37 36 9 45[RABMEKX 128 162 152 314|BEAHET 46 69 68 137
W= &HAT 24 23 29 52 (BB AKX 78 111 113 224(# R —TH 220 280 328 608 | T M 156 201 208 409|lLEE—TH 68 79 95 174
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E/I\YERE 317 390 403 793| B ET 66 93 91 184|$ R T B 181 289 279 568| HXEE—TH 62 82 83 165|ILSATTHE 107 119 130 249
NWES it 223 217 225 442/ £ BT 22 34 31 65(Fp—TH 147 167 184 351|FEB_-TH 143 164 206 370(ILEEETH 89 132 133 265
AT 500 640 685 1,325 LAaEET 63 84 76 160|h k=T B 235 329 347 676 |35 EHT 103 143 119 262(ILEEARTH 111 148 157 305
3] 20 17 18 35| chiH 7 ET 69 89 84 173 |4t B BT 99 110 128 238|EDEE—TH 19 28 26 54(SMX  Ft 1,075| 1,445 1,563 3,008
AT 12 16 14 30|BFMX  F 307 425 403 828|dt=HBE—TH 130 184 214 398|EN{E=TH 112 187 168 355| FRER—TH 152 179 192 371
BRATX 19 18 23 41|/ ILET 93 120 141 261|dt=2ATBE _TH 186 247 312 559|RMIE=TH 62 87 90 177|FRER-TH 96 129 106 235
RETHET 18 23 35 58| FAAHET 149 189 201 390( i &t 3680 4832| 5156 9,988|ChEEHIX =t 2522 3,182| 3218 6,400|FHKHE=TH 150 177 183 360
HEET 106 114 104 218 | 55 RS ET 210 252 277 529 | & SLET 215 264 295 559 | A2 ET 199 268 259 527| FRERMTH 169 207 205 412
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JEHEAR1E 105 92 132 224 | BT RRE S BT 15 25 19 44(FhAE)ITX 54 67 81 148| 4 FHT 96 122 126 248| FRERATH 167 211 229 440
JEHEAR2X 196 246 257 503K SLET 25 43 39 82 ;B 54 78 83 161|AR2HET 211 309 325 634| FREFB —TH 131 171 159 330
JEHEARIX 63 47 73 120|dL R 72 66 89 155|481 78T 108 153 154 307 |5 tLET 34 57 56 3| FREB_TH 140 177 178 355
JEHERAX 191 275 264 539|ZM#HH—TH 141 184 187 371 | %t AT 22 33 41 74| Z BT 82 109 121 230( FHREB=TH 138 183 196 379
JEHEASX 361 440 464 904| R 5t 775 964| 1,059 2,023|HIFHEHX  F 558 732 798 1,530 | &I ET 147 164 177 341 | FREBETH 100 120 141 261
JEHER6X 201 237 220 457 | = {RET 121 149 180 329 (= K ET 526 706 650  1,356|%& KAT 55 88 92 180| FREFART B 135 153 149 302
BXE-TH 153 167 179 346 | EATRX 9 10 14 24| &=k AT 488 615 584  1,199|M AT 19 30 36 66| FHREB/ATHE 147 179 191 370
EH=E—TH 87 113 102 215\ MR 10 14 15 29|t HEET 47 71 7 142|#F1F—TH 87 12 110 222 FREBETHE 173 216 249 465
EE-TH 103 105 136 241 | BHR 1" 13 13 26| = K FTET 74 91 111 202|#F1E=TH 54 72 71 143| FREFA/N\TH 115 125 146 271
EE=TH 101 118 140 258 ik {LET 38 51 62 13| {REAT 40 57 53 110|#FIF=TH 70 94 101 195\ FREm—TH 107 144 148 292
fAm—TH 108 119 124 243|£ ERET 28 34 31 65(/\E FhET 52 68 73 141|A#FIFETHE 98 129 122 251 (FHREBM_TH 147 198 190 388
HH=-TH 123 151 192 343771 ET 40 49 64 113|/\EHET 129 165 184 39|AFIEFRTHE 69 96 91 187| THEF X 5t | 2210 2,749 2828 5,577
H&HE—TH 71 89 90 179( L/IMIIET 43 46 63 109| —1xRET 67 72 76 148|#FFATHE 68 74 84 158 | aET 118 131 148 279
BB=-TH 132 188 160 348 | £ #AET 33 38 51 89| & ERET 163 196 224 420K —TH 98 138 130 268 | R HAET 104 111 118 229
*E—TH 137 137 142 279 | = {RERET 103 145 143 288 RER MR 391 529 498 1,027 (BK_—TH 60 71 75 146 | FE4E AT 99 124 119 243
*EBZTH 102 135 140 275|HERER 94 17 116 233 | ELKHX 202 255 244 499 MchitIX  Ft 1,501| 2,008 2055 4,063|FH—TH 107 130 124 254
RIE—TH 152 163 198 361| = JRET 67 99 86 185 A & X 110 137 135 272|#&TRY 432 553 504 1,057|FHM-TH 77 87 87 174
REZTH 88 98 96 194| SRIBX 5 597 765 838|  1,603|—iF#HEKX 213 277 238 515 | HERT 140 182 173 355(FEI=T B 65 79 84 163
3% —TH 64 74 71 145|' & ALET 152 213 233 446|HSVHEE—TH 75 98 103 201 | 1R FHET 334 426 389 815| =R EFHT 58 76 71 147
BH=-TH 63 69 76 145 K5k BT 87 128 128 256 (HSVEE=—TH 127 153 158 311|EH BT 367 556 500 1,056|335iREFET 101 119 108 227
#%=TH 23 34 33 67 (X 120 154 181 335(HSVHIE=TH 78 97 105 202| I 5 1,273 1,717 1566| 3,283|F 3R EFHT 84 94 101 195
BX—TH 139 177 199 376|HHE—TH 131 93 153 246 (HSVHEEMT A 124 166 153 319 BmERF—TH 67 81 81 162
BHX=TH 19 10 17 27|MHAR-TH 67 75 82 157 EEMT B 0 0 0 0 EEX 84 80 95 175
BXAETH 104 17 147 264 | KKEFX 84 116 121 237[/\BH X 85 118 125 243 NEHMX F 964| 1,112| 1,136 2,248
BRATH 65 74 88 162|#H 4L X 125 182 170 352|BHIX &t 2991| 3871 3785 7,656
BAtTH 111 128 145 273 | R H PR 59 74 87 161 MEMIE § 27,855( 35314 36477 71,791
BXN\TH 133 176 190 366 | #T FHHEMX 54 74 59 133
BAATH 1 1 4 5|# HEX 200 260 289 549
BXx+TH 20 22 15 37| —AMIX 5t 1,079| 1,369| 1,503| 2,872
HAR—TH 22 23 24 47
HWAZTE 98 143 142 285
HA=TE 124 202 203 405
MEMX 5t 6,560| 7,861| 8364 16,225
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B 34 35 43 78]/ \KGHT 140 171 207 378 (3R L ET 123 166 173 339 [ sAT R BT 5 45 53 75 128| [ EHT 44 60 68 128
=)IIFETR 150 199 220 419| == HT 51 75 72 147 |F3R BT 234 241 280 521 [SATNETSTE 45 46 54 100 | #AAEFET 24 35 36 7
=) HETF 33 46 50 96 | &9 | LIET 216 280 312 592 | & ;& F AT 288 423 431 854 A N T4 103 129 148 277(773— LB 30 47 41 88
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EJNE:ES 48 42 56 98| #5324 B BT 160 181 203 384G HE—TH 88 139 136 275 NET T 7 5 4 1 5|4 FRET 46 49 41 90
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ZX 5t 1,644 1,922 2,142|  4,064|EEXEHAT 201 241 243 484| E [A) BT 177 253 276 529 | #iR 35 25 37 62|40 R BT 2 2 0 2
REAT 306 397 441 838 | &Rk KE G ET 121 189 187 376 | OHET 141 183 214 397| MR 37 45 47 92| Fp i AT 0 0 0 0
FHRET 290 337 353 690|885k KFRI—TH 8 8 11 19| RATET 72 93 96 189| FAE 22 30 39 69 |48;EHT 21 25 42 67
FHEHHT 41 58 58 116 |8k KFET=TH 66 83 94 177 |BHE S HT 22 27 33 60| L KB 23 25 24 49| ZF/KET 42 50 59 109
RIEAT 52 84 72 156 [#8R/KFRETEET B 32 35 35 70(47HT 75 114 121 235|KE%H 11 13 13 26| TEAHET 61 81 93 174
ik ) 147 213 211 424|EER A HET 31 44 44 88| th ./ SERHET 42 60 70 130|E 44 40 46 86| L& A HT 40 53 58 111
B BHT 286 375 388 763|ESRIMIX 5t 1,582| 1,910 2,088  3,998(&EFHT 58 74 72 146| SHSHhE 5t 426 469 519 988 | &1L RHET 31 43 45 88
St BT 7 93 98 191| A 45HET 235 320 343 663 | [FET 62 60 84 144 =V EHET 55 72 97 169
Byl ¥ 252 314 323 637 |/INDET 199 245 276 521 [4& AKHET 24 32 31 63 SR LI ET 48 61 69 130
HEHT 317 413 444 857(BAX_-TH 156 199 190 389( B M Htth 331 404 434 838 B4y E7 BT 5 5 6 1"
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EETHE 132 210 201 411| B {5 -FET 274 369 404 773 |#53k % SET 201 249 261 510 Sitdithis 5 932| 1,200| 1,323 2,523
EETX 123 186 209 395(BH SETIL/FE 46 52 62 114 (R EEHTET 159 205 209 414 =55 53 58 56 114
BEETH 121 195 190 385 FHSETEH /K 25 31 35 66 | H /BB HT 10 17 16 33 A 4 2 3 5
IREX § 2,150 2,886 3,004| 5890|B3 BRIt 46 70 68 138| H O #ET 57 91 93 184 R 93 75 97 172
AR 48 61 63 124 |88 SETHE /44 41 51 55 106 | 4e A HTHT 161 238 218 456 ZR 32 21 40 61
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ERT6 X 154 149 185 334|HEEHT 178 244 233 477 EOhig 5t 236 222 253 475
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